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NO.7 m m2 m2 m3
+6.80 0.7
NO.7 4.0 0.70 2.8
+10.80 0.7
N 40 28
NO.7
+18.80 0.7
NO.8 35 0.60 2.1
+2.30 05
INET 35 2.1
& 15 4.9 &
=5 75 49
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NO.7 m m2 m2 m3
+6.80 0.3
NO.7 4.0 0.25 10
+10.80 0.2
INET 4.0 10
NO.7
+18.80 0.2
NO.8 35 0.20 0.7
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HE 75 1.7 FEt 0.0 0.0
&5t 15 1.7
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NO.6 m m2 m2 m3
+12.60 1.7
NO.7 14.2 1.45 20.6
+6.80 1.2
NO.7 40 1.20 48
+10.80 1.2
NO.7 8.0 1.20 9.6
+18.80 1.2
NO.8 35 1.20 4.2
+2.30 1.2
NO.8 1.1 1.10 1.2
+3.40 1.0
NO.8 5.4 1.05 5.7
+8.80 1.1
NO.9 11.2 0.95 10.6
0.8
NO.10 20.0 1.05 21.0
1.3
NO.11 20.0 1.15 23.0
1.0
NO.12 20.0 1.10 22.0
1.2
NO.12 18.8 1.10 20.7
+18.80 1.0
g 126.2 143.4 &t 0.0 0.0
&t 126.2 143 4
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NO.6 m m2 m2 m3
+12.60 1.3
NO.7 14.2 0.95 135
+6.80 0.6
NO.7 40 0.60 2.4
+10.80 0.6
NO.7 8.0 0.60 48
+18.80 0.6
NO.8 35 0.60 2.1
+2.30 0.6
NO.8 1.1 0.50 0.6
+3.40 0.4
NO.8 5.4 0.50 2.7
+8.80 0.6
NO.9 11.2 0.45 5.0
0.3
NO.10 20.0 0.50 10.0
0.7
NO.11 20.0 0.60 12.0
05
NO.12 20.0 0.55 11.0
0.6
NO.12 18.8 0.55 10.3
+18.80 05
g 126.2 74.4 hEt 0.0 0.0
&t 126.2 74.4
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B B 4 & f /& 300x400 m 8
B B 4 B { & 400 x400 m 6 15 T AR
I & B8\ S E{A1E 300 % 600 m 16
T & 8\ B AE 300 % 700 m 10
I & B8\ E{A1E 300 % 800 m 4
I & B8 B QB {A1E 400 x 400 m 24
I & B8\ DB {A1E 400 x 500 m 48
I & B8\ QB {AIE 400 % 600 m 18
B & 4 B & & 300 L=500 M 19
5 B 4 B {8l i& 2 400/ L=500 ® 44
5V —F > Y %300 L=1000 T-25 L5 10
5V —F v Y % 400A L=1000 T-25 L5 23
5V —F v Y % 400A L=1000 T-25 L5 3 15 T R
Me&EJ1v2Y—+ m3 0.5
AV N=+IVD)— | 18-8-25BB m3 5
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e MESTEE 13t %n
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BEERIEEEZIL
¢ 150 KA
L= 0.24+0.29 = 05
HE/KB
L= 0.91+0.53 = 14
EKkC
L= 0.32+0.15 = 05
HsKD
L= 0.32+0.15 = 05
HIKE
L= 0.32+0.26 = 0.6
&t 35 4 m
B B A B A
300 x 400 i)
NO.7+6.8~N0O.7+10.8 40
NO.7+18.8~N0.8+2.3 35
&t 75 8 m
B B A B A
(FEBR ) =4l
400 X 400 NO.8+3.4~N0.8+8.8 6.0 6 m
T BEHAERAE
300 x 600 =4l
NO.7+4.6~NO.7+11.6 7.0
NO.7+13.6 ~NO.8+2.7 9.1
&t 16.1 16 m
T BEHAERAE
300 x 700 =4l
NO.6+16.6~NO.7+4.6 8.0
NO.7+11.6~NO.7+13.6 2.0
&t 10.0 10 m
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T EBHRAEAE
300 x 800 =4l
NO.6+12.6~NO.6+16.6 40 4 m
T EBHRAEAE
400 X 400 =4l
NO.8+9.1~N0.9+12.8 23.7 24 m
T EBEHRAEAE
400 X 500 =4l
NO.9+12.8~NO.11+6.8 34.0
NO.11+8.8~NO.11+14.8 6.0
NO.12+8.8~NO.12+16.8 8.0
&t 48.0 48 m
T EBHRAEAE
400 X 600 =4l
NO.11+6.8~NO.11+8.8 20
NO.11+14.8~NO.12+8.8 14.0
NO.12+16.8~NO.12+18.8 20
&t 18.0 18 m
AV N—=r2VD)—F
18-8-25BB i)
NO.7+6.8~N0.7+10.8 B=300
A= (0.13+0.14)/2 x 2+(0.14+0.15)/2 x 2 = 0.56
V=056 X 0.3 = 0.17
NO.7+18.8~N0.8+2.3 B=300
A= (0.13+0.09)/2 x 2+(0.09+0.06)/2 X 1.5 = 0.33
V=0.33%0.3 = 0.10
A1l
NO.6+12.60~NO.8+2.7 B=300
A= (0.12+0.14)/2 x 2+(0.14+0.17)/2 x 2 = 0.57
A= (0.07+0.09)/2 x 2+(0.09+0.12)/2 X 2 = 0.37
A= (0.12+0.14)/2 x 2+(0.14+0.16)/2 x 2 = 0.56
A= (0.06+0.09)/2 % 2+(0.09+0.09)/2 X 2 = 0.33
A= (0.09+0.10)/2 x 2+(0.10+0.10)/2 x 1 = 0.29
A= (0.20+0.20)/2 % 0.7+(0.20+0.15)/2 x 0.05 = 0.15
A= (0.15+0.15)/2 % 0.5+(0.15+0.20)/2 x 0.05 = 0.08
A= (0.20+0.20)/2 x 0.7+(0.10+0.10)/2 X 2 = 0.34
A= (0.10+0.10)/2 x 2+(0.10+0.10)/2 x 2 = 0.40
A= (0.10+0.09)/2 x 1.5+(0.09+0.09)/2 X 1.6 = 0.29
&t 3.38

V=3.38x0.3

1.01
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A = 13 &
i I # ®5 KX - F B =
NO.8+3.50~N0.8+9.13 B=400

A= (0.07+0.07)/2 x 2+(0.07+0.06)/2 % 2 = 0.27
A= (0.06+0.06)/2 X 2 = 0.12

=11 0.39
V=0.39x0.4 = 0.16

NO.8+9.13~NO0.12+18.80 B=400

A= (0.06+0.06)/2 X 1.7+(0.06+0.07)/2 X 2 = 0.23
A= (0.07+0.07)/2 x 2+(0.07+0.07)/2 % 2 = 0.28
A= (0.07+0.08)/2 x 2+(0.08+0.08)/2 % 2 = 0.31
A= (0.08+0.07)/2 x 2+(0.07+0.07)/2 % 2 = 0.29
A= (0.07+0.06)/2 x 2+(0.06+0.06)/2 % 2 = 0.25
A= (0.06+0.06)/2 x 2+(0.06+0.05)/2 % 2 = 0.23
A= (0.15+0.15)/2 % 2+(0.15+0.15)/2 X 2 = 0.60
A= (0.15+0.14)/2 x 0.7+(0.14+0.09)/2 % 0.05 = 0.11
A= (0.09+0.09)/2 x 0.5+(0.09+0.14)/2 x 0.05 = 0.05
A= (0.14+0.14)/2 X 0.7+(0.14+0.14)/2 X 2 = 0.38
A= (0.14+0.14)/2 x 2+(0.14+0.14)/2 X 2 = 0.56
A= (0.14+0.13)/2 % 2+(0.13+0.13)/2 X 2 = 0.53
A= (0.13+0.13)/2 x 2+(0.13+0.13)/2 X 2 = 0.52
A= (0.13+0.13)/2 % 2+(0.13+0.13)/2 X 2 = 0.52
A= (0.13+0.13)/2 X 2+(0.13+0.12)/2 X 2 = 0.51
A= (0.12+0.11)/2 x 2+(0.11+0.10)/2 %X 2 = 0.44
A= (0.10+0.09)/2 x 2+(0.19+0.19)/2 X 0.7 = 0.32
A= (0.19+0.14)/2 x 0.05+(0.14+0.13)/2 X 0.5 = 0.08
A= (0.13+0.18)/2 x 0.05+(0.18+0.18)/2 X 0.7 = 0.13
A= (0.08+0.07)/2 x 2+(0.07+0.06)/2 % 2 = 0.28
A= (0.06+0.05)/2 x 2+(0.15+0.14)/2 % 2 = 0.40
A= (0.14+0.13)/2 X 2+(0.13+0.13)/2 X 2 = 0.53
A= (0.13+0.13)/2 X 2+(0.13+0.14)/2 X 2 = 0.53
A= (0.14+0.15)/2 % 2+(0.15+0.15)/2 X 2 = 0.59
A= (0.05+0.06)/2 x 2+(0.06+0.07)/2 % 2 = 0.24
A= (0.07+0.07)/2 x 2+(0.07+0.08)/2 % 2 = 0.29
A= (0.18+0.18)/2 x 0.7+(0.18+0.13)/2 x 0.05 = 0.13
A= (0.13+0.14)/2 x 0.5+(0.14+0.19)/2 x 0.05 = 0.08
A= (0.19+0.19)/2 % 0.7 = 0.13

=11 9.54

V=954x0.4

3.82
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300/ L=500 = :]
NO.7+6.8~NO.7+10.8 2
NO.7+18.8~N0.8+2.3 2
A1l
NO.6+12.6~NO.6+16.6 2
NO.6+16.6~NO.7+4.6 4
NO.7+4.6~NO.7+13.6 3
NO.7+13.6~NO.8+2.7 6
&t 19 19 b5
BHAEAIEE
400/ L=500 =4l
NO.8+9.1~N0.9+12.8 12
NO.9+12.8~NO.11+6.8 18
NO.11+6.8~NO.11+8.8 0
NO.11+8.8~NO.11+14.8 4
NO.11+14.8~NO.12+8.8 6
NO.12+8.8~NO.12+16.8 4
a&t 44 44 54
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300 L=1000 T-25 | Z {I
NO.7+6.8~NO.7+10.8 1
NO.7+18.8~N0.8+2.3 1
=4l NO.6+12.6~NO.6+16.6 1
NO.6+16.6~NO.7+4.6 2
NO.7+4.6~NO.7+13.6 3
NO.7+13.6~NO.8+2.7 2
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NO.11+8.8~NO.11+14.8 1
NO.11+14.8~NO.12+8.8 4
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&t 23 23 b5
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(AEErF)
400/ L=1000 T-25 &8l NO.8+3.4~N0O.8+9.1 3 3 ®
DEERVUUEE
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NO.7+8.6~NO.7+10.8
V= 22x0.06 0.13
NO.7+18.8~N0.8+2.3
V= 3.5%(0.08+0.11)/2 0.33
=4l
BERVIUE 0.46 0.5 m3
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i I g OH K - b H =
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av9U—t KA
V= (0.55 X 0.48-0.075 X 0.075 X 3.14) X 0.1 = 0.02
Hu/KB
V= (0.55 X 0.50-0.075 X 0.075 X 3.14) X 0.1 = 0.03
HkC
V= (0.55 X 0.44-0.075 X 0.075 X 3.14) X 0.1 = 0.02
HYsKD
V= (0.55 X 0.49-0.075 X 0.075 X 3.14) X 0.1 = 0.03
HU/KE
V= (0.55 X 0.49-0.075 X 0.075 X 3.14) X 0.1 = 0.03
a&t 0.13 0.1 m3
B
KA
A= 0.48%x0.1%2 = 0.10
HuKB
A=05x0.1x2 = 0.10
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A= 0.49%x0.1%2 = 0.10
HUKE
A= 0.49%0.1%2 = 0.10
a&t 0.49 05 m
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BEYRRLI HEFES

13X &0
Ao B # OE K -/ E =
i 3A(BF IT-300
4
B (ZRE &) NO.7+6.8~NO.7+10.8
V=4.0x%0.03 = 0.120

NO.7+18.8~NO.8+2.3

V= 35x%0.03 = 0.105
=4l
NO.6+16.3~N0.8+2.7
V= 30.1 X 0.03 = 0.903
&t 1.128
a1 v 9 U — M{EIE400 x 300 (FRIFITHKER)
B E Y W E UAA
320 NO.8+8.8~NO0.12+18.8
V= 89.8 X 0.06 = 5.388
INSH 5.388
B #2300 x 350
=4l
NO.8+3.4~N0.8+8.8
V=6.0%0.12 = 0.720
£ K # A
V= (0.80 X 0.93-0.65 X 0.78) X 0.15 = 0.036
V=0.75%0.75 % 0.77 = 0.433
V= 0.85 X 0.85 X 0.06 = 0.043
&t 0.512
V= (0.615 x 0.615+0.585 X 0.585)/2 X 0.77 = 0.277
V= (0.068+0.083)/2 % 0.30 % 0.30 = 0.007
V= (0.068+0.083)/2 % 0.30 X 0.20 = 0.005
V= (0.068+0.083)/2 x 0.125 X 0.125 x 3.14 = 0.004

R
s
op
anh
_'_

0.293

V=0.512-0.293 = 0.219




BEYRRLI

A 13X 4
= Y rind > = N =,
o Bl H & K - /N E ¥ =
£ XK #H B
V= (0.83 X 0.83-0.68 X 0.68) X 0.15 = 0.034
V=0.75%0.75 % 0.77 = 0.433
V= 0.85 X 0.85 X 0.06 = 0.043
&t 0.510
V= (0.615 x 0.615+0.585 X 0.585)/2 X 0.77 = 0.277
V= (0.068+0.083)/2 x 0.30 X 0.30 = 0.007
V= (0.068+0.083)/2 x 0.30 X 0.20 = 0.005
V= (0.068+0.083)/2 x 0.30 X 0.35 = 0.008
et 0.297
V= 0.510-0.297 = 0.213
|mEHAUH—EE 6.540 7 m3
& % R U1 MR
FPAI7)L b t=5cm =4
NO.7+6.8~N0O.7+10.8
L= 0.59+0.15+3.85+0.34 = 493
NO.7+18.8~N0.8+3.4
L= 0.26+2.47+2.26+1.32 = 6.31
£l
NO.6+12.6~NO.12+18.8
L= 0.70+4.00+2.31+5.70+1.95+5.05+2.00+8.68+
8.19+8.30+23.39+3.75+14.05+24.20+2.00+6.00+
14.00+8.00+2.00+0.45 = 144.72
FAT7IV NGRS 5 155.960 160 m
8 % R W OB
FPAI7)L bk t=5cm =4
NO.7+6.8~NO.7+10.8
A= (0.59+0.45)/2 X 0.15 = 0.08
A= (0.45+0.34)/2 % 3.85 = 1.52

op
E‘E

1.60




- Ee =
BEYMRIELT MestEs 15t a4
A Bl #F H KX -/ F H =B

NO.7+18.8~NO0.8+2.3

A= (0.26+0.18)/2 x 2.47 = 0.54
A= 0.71 = 0.71

=11 1.25

A
NO.6+12.6~NO.12+18.8

A= (0.70+0.66)/2 X 4.00 = 2.72
A= (0.61+0.59)/2 X 2.31 = 1.39
A= (0.59+0.71)/2 % 5.70 = 3.71
A= (0.66+0.70)/2 X 1.95 = 1.33
A= (0.70+0.72)/2 X 5.05 = 3.59
A= (0.77+0.78)/2 % 2.00 = 1.55
A= (0.75+0.79)/2 X 8.68 = 6.68
A= 7.05 = 7.05
A= (0.59+0.51)/2 % 23.39 = 12.86
A= (0.56+0.55)/2 X 3.75 = 2.08
A= (0.55+0.53)/2 X 14.05 = 7.59
A= (0.53+0.44)/2 % 24.20 = 11.74
A= (0.49+0.48)/2 % 2.00 = 0.97
A= (0.53+0.53)/2 % 6.00 = 3.18
A= (0.53+0.51)/2 % 14.00 = 7.28
A= (0.40+0.40)/2 % 8.00 = 3.20
A= (0.45+0.45)/2 % 2.00 = 0.90

=11 77.82
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